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What is the reason of %91 ' — 9079 9277 NMYY ONR

OVERVIEW

The X773 cites a X092 in which 01 ' states that from the 'P105 of nax Tw»
n17n, we derive that it is possible to be 21 a 127p for each 72871, The X7
continues that X3°17 92 °"1 asked, what is the reason of °0y '". There is a
dispute between *"w1 and M»dOIN as to the meaning of this question.

— 9 112D NINMY NNNRNT 071 FNINT MV DIVNPA VIV
>'"w9 explained, that this is the meaning of 11"27; that even after the w7
of nnx and 1717, the letters 2" in nrx@ and 7377 are still superfluous.

mooIn disagrees with >"wA:

— 19 ¥NYN 1IN NIYY INM PYD
However the expression 'v"'%' (‘what is the reason’) does not indicate that
the question is regarding the extra o'"n, but rather how °0v ' derives that %y 12»nw 2°nys
nnRY NnR 2.

mooIn offers his interpretation:
— YD %297 NNYV NN XY 9NT PNY 199299 HINI

And the view of the >''1 is that this is the explanation; what is the reason
of 59 ' that he can derive Mox%» P2°1 from 7177 NARY -
— *MT9Im9) MARDY *Pynun owY XD PIVN XD
For the P02 of 717772 nnknx is needed to teach that if one wrote NYy»wn aw he
is 2°11 and also to teach us that there are max and *nT9n -
— DNANY HNX 99 5y 29917 1Y NI
So how can "0 ' derive that he is 29911 for each ox%» from the p105 of nnARn

nIn?
— DI MAND NINN 613)’}3\’)}3 oV HNNNT V991

! 2,7 R reads 7372 DARA WYY WY R? WK 77 Mxn om 73w RN 0 wol regarding a NROM 127p.

% nnx teaches that there is only one nXur 217 (even if one transgressed many N19X») when it was Naw naw.
177 teaches that there are many 0°2vn if it was n198%1 naaw. However it does not explain the letters o"n.

3 "Mynwn ov' means if someone had intention to write the word '1Wwnw' and he wrote 'aw' (the first two letters
of 1wnw) he is 27m, for he wrote on N2w. The minimum amount of writing to be 217 a 127p is two letters.

* The word 737» teaches us that besides the thirty nine MoX>n Mar, each 75871 has M721n (derivatives)
which are also forbidden.

> See footnotes # 6&7.

® 'nrxn' means ‘from one’; indicating the even if one wrote only part of one word he is also liable.
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And the X773 explains that nnR» teaches us ywn»wn aw, and 7377 teaches us
MT9I0Y NIaN -

SHNN NONY NINY NN NIAY NNN 1YY ST 1129919091 DIPN Y919
But nevertheless since the 7710 adjoined the words niX» and 7177 next to
each other we interpret them to mean, ‘one which is many,’ and many
which are one”.

SUMMARY

The question *"17 v"» (according to '0In) is how can *"3 derive MK P1°n
from 7177 nnXn” when we derive other MW7 from this 109, The Xn)
answers that nevertheless we can derive it since the 7710 juxtaposed them
next to each other.

THINKING IT OVER
Is there a difference between *"w2 and M0N0 as to how 0 ' derives 7191
MRSy from 73 nnxn e

731" (which means these) refers to the max, and 73» (from these) refers to the M77n which are derived
from the max.

¥ This refers to a case of M3X?n NI N2w 77 that even though he was only %9 one (MK 0972) Naw
(which is nnR), nevertheless since he did many 3w2a n19X97, he is 21 for each 72877 (this is 7137)

? This refers to a case of Max NN Naw nww that even though he did many max%» (this is 737),
nevertheless he is only 2717 one nXvn (this is the NRR), since there was only one 73w (the NAw NWY).

12 See ommax .
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